
Exercise 3: Marissa does 3.2 J of work to lower the window shade in her bedroom a
distance of 0.8 m. How much force must Marrisa exert on the window shade?

Answer:

Exercise 4: Atlas and Hercules, two carnival sideshow strong men, each lift 200.-kg
barbells 2.00 m off the ground. Atlas lifts his barbells in 1.00 s and Hercules
lifts his in 3.00 s. a) Which strong man does more work? b) Calculate which
man is more powerful.

Answer: a.

Answer: b.

5-2 Energy

Potential and Kinetic Energy

Vocabulary Energy: The ability to do work.

There are many different types of energy. This chapter will focus on only
mechanical energy, or the energy related to position (potential energy) and
motion (kinetic energy).

Vocabulary Potential Energy: Energy of position, or stored energy.

An object gains gravitational potential energy when it is lifted from one level
to a higher level. Therefore, we generally refer to the change in potential
energy or !PE, which is proportional to the change in height, !h.
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! gravitational potential energy " (mass)(acceleration due to gravity)(! height)

or !PE " mg!h

It is important to remember that gravitational potential energy relies only
upon the vertical change in height, !h, and not upon the path taken.

In addition to gravitational potential energy, there are other forms of stored
energy. For example, when a bow is pulled back and before it is released, the
energy in the bow is equal to the work done to deform it. This stored or
potential energy is written as !PE " F!d. Springs possess elastic potential
energy when they are displaced from the equilibrium position. The equation
for elastic potential energy will not be used in this chapter.

Vocabulary Kinetic Energy: Energy of motion.

The kinetic energy of an object varies with the square of the speed.

kinetic energy " (mass)(speed)2 or KE " mv2

The SI unit for energy is the joule. Notice that this is the same unit used for
work. When work is done on an object, energy is transformed from one form
to another. The sum of the changes in potential, kinetic, and heat energy is
equal to the work done on the object. Mechanical energy is transformed into
heat energy when work is done to overcome friction.

Conservation of Energy

According to the law of conservation of energy, energy cannot be created or
destroyed. The total amount of mechanical energy in a system remains
constant if no work is done by any force other than gravity.

In an isolated system where there are no mechanical energy losses due to
friction

!KE " !PE

In other words, all the kinetic and potential energy before an interaction
equals all the kinetic and potential energy after the interaction.

KEo # PEo " KEf # PEf or mvo
2 # mgho " mvf

2 # mghf

As a reminder, the terms with the subscript o are the initial conditions, while
those with the subscript f are final conditions.

a 1
2
ba 1

2
b

a 1
2
ba 1

2
b
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Solved Examples

Example 4: Legend has it that Isaac Newton “discovered” gravity when an apple fell from
a tree and hit him on the head. If a 0.20-kg apple fell 7.0 m before hitting
Newton, what was its change in PE during the fall?

Solution: For a given object, the change in PE depends only upon the change
in position. The apple does not need to fall all the way to the ground to
experience an energy change.

Given: m ! 0.20 kg Unknown: "PE ! ?
g ! 10.0 m/s2 Original equation: "PE ! mg"h

"h ! 7.0 m

Solve: "PE ! mg"h ! (0.20 kg)(10.0 m/s2)(7.0 m) ! 14 J

Example 5: A greyhound at a race track can run at a speed of 16.0 m/s. What is the KE of
a 20.0-kg greyhound as it crosses the finish line?

Given: m ! 20.0 kg Unknown: KE ! ?
v ! 16.0 m/s Original equation: KE ! mv2

Solve: KE ! mv2 ! (20.0 kg)(16.0 m/s)2 ! 2560 J

Example 6: In a wild shot, Bo flings a pool ball of mass m off a 0.68-m-high pool table,
and the ball hits the floor with a speed of 6.0 m/s. How fast was the ball
moving when it left the pool table? (Use the law of conservation of energy.)

Given: vf ! 6.0 m/s Unknown: vo ! ?
g ! 10.0 m/s2 Original equation: "KE ! "PE

ho ! 0.68 m
hf ! 0 m

Solve: KEo # PEo ! KEf # PEf or mvo
2 # mgho ! mvf

2 # mghf

Notice that mass is contained in each of these equations. Therefore, it cancels
out and does not need to be included in the calculation.

vo ! !

!

! ! 4.7 m/sR18 m2>s2 $ 6.8 m2>s2

1
2

b
a 1

2
b 16.0 m>s 22 # 110.0 m>s2 2 10 m 2 $ 110.0 m>s2 2 10.68 m 2

1
2

b
a 1

2
b vf

2 # ghf $ gho

1
2b

a 1
2
bmvf

2 # mghf $ mghoa 1
2
bm

a 1
2
ba 1

2
b

a 1
2
ba 1

2
b

a 1
2
b
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Example 7: Frank, a San Francisco hot dog vender, has fallen asleep on the job. When an
earthquake strikes, his 300-kg hot-dog cart rolls down Nob Hill and reaches
point A at a speed of 8.00 m/s. How fast is the hot-dog cart going at point B
when Frank finally wakes up and starts to run after it?

Solution: Because mass is contained in each of these equations, it cancels out
and does not need to be included in the calculation. Also, the inclination of
the hill makes no difference. All that matters is the change in height.

Given: vo ! 8.00 m/s Unknown: vf ! ?
g ! 10.0 m/s2 Original equation: "KE ! "PE

ho ! 50.0 m
hf ! 30.0 m

Solve: KEo # PEo ! KEf # PEf or mvo
2 # mgho ! mvf

2 # mghf

vf ! !

!

!

! ! 21.5 m/s2464 m2>s2

R32.0 m2>s2 # 500. m2>s2 $ 300. m2>s2

1
2

b
a1

2
b 18.00 m>s 22 # 110.0 m>s2 2 150.0 m 2 $ 110.0 m>s2 2 130.0 m 2

1
2

b
a 1

2
bvo

2 # gho $ ghf

1
2b

a 1
2
bmvo

2 # mgho $ mghfa 1
2
bm

a 1
2
ba 1

2
b
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Practice Exercises

Exercise 5: It is said that Galileo dropped objects off the Leaning Tower of Pisa to
determine whether heavy or light objects fall faster. If Galileo had dropped a
5.0-kg cannon ball to the ground from a height of 12 m, what would have
been the change in PE of the cannon ball?

Answer:

Exercise 6: The 2000 Belmont Stakes winner, Commendable, ran the horse race at an
average speed of 15.98 m/s. If Commendable and jockey Pat Day had a
combined mass of 550.0 kg, what was their KE as they crossed the finish line?

Answer:

Exercise 7: Brittany is changing the tire of her car on a steep hill 20.0 m high. She trips
and drops the 10.0-kg spare tire, which rolls down the hill with an initial
speed of 2.00 m/s. What is the speed of the tire at the top of the next hill,
which is 5.00 m high? (Ignore the effects of rotation KE and friction.)

Answer:
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Exercise 8: A Mexican jumping bean jumps with the aid of a small worm that lives inside
the bean. a) If a bean of mass 2.0 g jumps 1.0 cm from your hand into the air,
how much potential energy has it gained in reaching its highest point. 
b) What is its speed as the bean lands back in the palm of your hand?

Answer: a.

Answer: b.

Exercise 9: A 500.-kg pig is standing at the top of a muddy hill on a rainy day. The hill is
100.0 m long with a vertical drop of 30.0 m. The pig slips and begins to slide
down the hill. What is the pig’s speed at the bottom of the hill? Use the law of
conservation of energy.

Answer:

Exercise 10: While on the moon, the Apollo astronauts enjoyed the effects of a gravity
much smaller than that on Earth. If Neil Armstrong jumped up on the moon
with an initial speed of 1.51 m/s to a height of 0.700 m, what amount of
gravitational acceleration did he experience?

Answer:
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a 1
2
ba 1

2
b

Hewitt: Conservation of Energy WS 2/2



Chapter 1
1. 884 m
3. a) 10.7 s
5. !9.00 m/s2

7. a) 2.2 m/s
9. a) 28.3 m/s

11. 0.36 s
13. 25.9 m

A1. 3.78 " 108 m
A3. a) 16.61 m/s

b) 37.16 mi/h
A5. Tortoise wins by 47 s
A7. 5 s
A9. !19 500 m

A13. a) 1.11 s
b) The same

A15. 3.9 m/s2

Chapter 2
1. 145 km south
3. 50. N forward
5. 175 m/s northeast
7. 6360 km
9. Horizontal: 752 N

Vertical: 274 N
11. 40.0 m/s
13. 37° to horizontal
15. 465 m

A1. a) 1450 km south
b) 1650 km

A3. 4.1 m/s
76° east of north

A5. 14.1 m
45° north of west

A7. Horizontal: 50. N
Vertical: 42 N

A9. 4.2 m
A11. 13.4 m/s
A13. 1.2 m (does not clear)

Chapter 3
3. 4500 N
5. a) !34 000 N
7. 102 N
9. a) 78 N

11. 0.20
13. 14.5 N
15. 10 600 N
17. 1860 N
19. Culp: 1.5 " 107 N/m2

Vance: 1.0 " 106 N/m2

21. a) .0079 m2

b) 0.050 m
A1. 50. N
A3. !1400 N
A5. 100 N
A7. 0.20
A9. 17.7 N

A11. 625 N
A13. 0.080 N
A15. a) 37 500 N

b) 75 000 N/m2

Chapter 4
1. 4.91 " 109 kg #m/s
3. a) 3750 N

b) 1.5 " 106 N
c) 400 times as great

5. 11.3 m/s
7. a) 9.0 m/s
9. 10. m/s

11. 215 m/s
13. 9.42 m/s

A1. 1470 kg #m/s
A3. 6080 N
A5. 50 000 N
A7. 1.04 m/s
A9. !0.22 m/s

A11. 17 004 m/s

Chapter 5
1. a) 1430 J
3. 4 N
5. 600 J
7. 17.4 m/s
9. 24.5 m/s

11. 7.7
13. 280 N
15. a) 6.0

b) 4.4
c) 73%

A1. 18 800 J
A3. a) 1 610 000 J

b) 53 700 W
c) 1 040 000 J

A5. 12 J
A7. a) 1.6 J
A9. 15 200 m

A11. 38
A13. 3

Chapter 6
1. 0.034 s
3. a) 1.6 m/s
5. a) 0.63 m/s
7. a) Jessica: 1.3 m/s

Julie 0.94 m/s
b) 0.15 m/s2

9. 2.5 m/s
11. 1.50 " 10!15 N
13. 0.12 N #m
15. a) 17 N up
17. Anita: 384 N up

Orin: 246 N up
19. 9.74 " 1037 kg #m2

21. 5.4 " 10!8 kg #m2

23. 5.6 m/s
A1. 0.6 s
A3. 3.8 m
A5. a) 2.2 m/s

b) 35 N
A7. a) 5.9 " 10!3 m/s2

b) 3.5 " 1022 N toward sun
c) 3.5 " 1022 N toward

Earth
A9. Outstretched: 12 N #m

Bent: 5.6 N #m
A11. 1.5 " 10!4 kg #m2
A13. 18 m/s

Chapter 7
1. Twice as large.
3. a) 9.78 " 10!8 N

b) 1.63 " 10!8 N
5. 4.2 " 1021 m
7. 1.67 " 10!9 m/s2

9. a) 9.9 " 1030 kg
b) 5.0 times

11. a) 618 000 m/s
13. a) 2.58 " 10!4 m/s

A1. 1/8100
A3. 4.1 " 10!47 N
A5. a) 1.66 " 10!3 N
A7. a) 4.9 " 1023 kg
A9. 1.33 " 10!9 m/s2

A11. a) 1340 N
b) 3560 m/s

Chapter 8
1. 2 m/s
3. 28 h
5. Albert 33 y

Henry 39.6 y
7. 13.0 m
9. a) 94 450 km

11. 1.0 " 10!3 kg
A1. 15 m/s same direction
A3. 8.3 y
A5. 1390 m
A7. 1068 J

Chapter 9
1. a) 710. kg/m3

3. 1.76 " 10!3 kg
5. 1.3 " 108 N/m2

7. 5.3 " 10!3 m2

9. a) 3.0 " 10!6 m
11. 4.2 " 106 Pa
13. 1330 kg/m3

15. 1.61 N
17. 0.50 m
19. Decreases by 314 m3

21. 0.015 m3

A1. 880 kg/m3
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